10.

BACHELOR IN BUSINESS ADMINISTRATION

Executive Development is also known as :
(a) Technical Development (b) Management Development
(c) Conceptual Development (d) None of the above

Job Evaluation Techniques involve :
(a) Non-Quantitative Techniques (b)  Quantitative Techniques
(c) Both (a) and (b) (d) None of the above

360° performance appraisal is carried out by :
(a) Self Appraisal (b) Peers and Subordinates
(c)  Supervisors (d) All of the above

The essentials of human records keeping are :
(a) Simplicity (b) Accuracy
(c) Economy (d) All of the above

The objective of Fringe Benefits is :

(a) To create and improve sound industrial relations
(b) To boost up employee morale

(c) Both (a) and (b)

(d) None of the above

Social security measures cover :
(a) Medical benefits (b) Pension
(¢) Gratuity (d) All of the above

Causes of industrial conflicts are :
(a) Industrial Factors (b) Management Attitude
(c) Dboth (a) and (b) (d) None of the above

Dispute settlement machinery includes :
(a) Labour Courts (b) Industrial Tribunals
(c) National Tribunal (d) All of the above

Human resource requirements of a particular enterprise are forecast at :
(a) Unit Level (b) Industry Level
(c) Sectoral Level (d) National Level

Process of developing specific skills for specific jobs comes under :
(a) Education (b) Training
(c) Development (d) All of the above
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Brain Storming Technique was developed by
(a) A.F. Osborn (b) Eric Mason
(¢) Denial Fitman (d) M. Lippitt

How many designs are combined in matrix organisation ?

(@ 3 (b) 2
() 4 d 5
The process model of organizational change was proposed by :
(a) A.S. Ackerman (b) W.W.Burke
(c) Kurt Levin (d) R.E.Walton

There are various organisational sources of resistance to change. How many are these
according to Katz and Kalin ?

@ 5 (b) 4

(c) 6 d 3

The area in which the process of change in organization appears most powerful involve :
(a) People (b) Technology

(¢c) Communication (d) All of the above

Organisational Behaviour is the study of :
(a) Group Behaviour (b) Individual Behaviour
(c) Patterns of organisational structure  (d) All of the above

Which one is not a psychological problem resulting from conflict ?
(a) Aggression (b) Depression

(c) Overact (d) Nervousness

What does a successful manager do ?

(a) Planning (b) Decision making
(c) Co-ordination (d) All of the above
“Hawthorne Experiments” were conducted by :

(a) Elton Mayo (b) Henry Fayal

(c) F.W. Tailor (d) Max Weber
Scientific Management approach is developed by :

(a) Elton Mayo (b) Henry Fayol

(c) F.W. Taylor (d) A.H. Maslow
Personality is the product of

(a) Heredity (b) Environment

(c) Heredity and Environment (d) None of the above
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22,

23.

24.

25.

26.

27.

28.

29.

30.

31.

Which is not the component of Attitude ?
(a) Emotion (b) Cognition
(c) Information (d) Behaviour

Which of the following theories is proposed by Clayton Alaperfer ?
(@) Theory X and Theory Y (b) Hierarchy of Needs
(c) ERG Theory (d) Two Factor Theory

Who is regarded as the father of Group Dynamics ?
(a) ZaiGarnik (b) Kurt Lewin
(c) K. Young (d) Kreechfield

The most appropriate, measure of a countrys economic growth is :
(a) GDP (b) NDP
(c) Per capita Real Income (d) GNP

Recent demonetization was aimed at :
(a) Unearthing Black Money (b) Reduction in Business activities
(c) Cash Payment (d) All of these

The Goods and Services Tax was introduced on :
(@) 1% of June, 2017 (b) 1% of July, 2017
(¢) 15™ August, 2017 (d) None of these

The law of demand states that an increase in the price of a good :
(a) Increases the supply of that good

(b) Decreases the quantity demanded for that good

(¢) Increases the demand of that good in comparison of supply.
(d) None of them

Break-Even Point refers to
(a) Price more than cost (b)  Price less than cost
(c) Both(a) and (b) (d) Price equal to total cost

If cross elasticity of demand between two goods is negative, the two goods are likely to be :
(a)  Substitutes (b) Complementary
(c) Necessities (d) Luxuries

Factors of Production are :
(a) Inputs and Outputs (b)  Outputs only
(c) Inputs only (d) None of these
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32. Anexample of a variable resource in the short run is :

(a) anemployee
(c) land

(b)
(d)

capital equipment
a building

33. A cost that has already been made and cannot be recovered is called a

(a) Marginal cost
(c) Variable cost

34. The long run is a timeframe in which
(a) all inputs are fixed.

(b)
(d)

(b)

(c) capital is fixed but labour is variable. (d)

35. Patents create monopolies by restricting :
(a) Prices
(c) Entry

36. Divestment is the opposite of :
(a) Portfolio
(c) Divestment

(b)
(d)

(b)
(d)

37. The decision to divest for the management is :

(a) Painful
(c) Neutral

(b)
(d)

Fixed cost
Sunk cost

all inputs are variable.
None of these

Profit
Demand

Investment
None of these

Joyful
None of these

38. The threshold exemption limit for GST would be :

(a) + 10 lakhs
(¢) + 30lakhs

39. Foreign Trade Policy is announced by

(b)
(d)

(a) Ministry of Commerce and Industry (b)

(c) Foreign Trade Association

(d)

= 20 lakhs
None of these

EXIM Bank
None of these

40. The country that attracts the largest FDI inflow is :

(a) India
(c) US.A.

41. NAFTA is an example of :
(a) Common Market
(c) Economic Community

42. BOT approach is related to :
(a) Management Contracting
(c) Exporting

Series-A

(b)
(d)

(b)
(d)

(b)
(d)

China
Brazil

Custom Duty Union
Free Trade Area

Contract manufacturing
Turnkey contracts
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43.

44.

45.

46.

47.

48.

49.

50.

S1.

52.

8" conference of GATT has been held at
(@) Uruguve Round (b) Hempashoyar
(¢c) New Delhi (d) Chennai

An Industrial Estate whose production is normally intended for exports is known as :
(a) EPZ (b) SEZ
(c) EOU (d) FTZ

Which of these is not an international organization ?
(a) SAARC (b) ASEM
(c) ASEAN (d CBDT

Which of the following is not an International Financial Institution ?
(a) ICICI (b) IMF
(c) IDA (d) World Bank

Which one is the source of external finance ?
(a) WTO Funds (b) World Bank Group
(c) Export Credit (d) Foreign Direct Investment

Foreign Exchange and Foreign Currencies in India are governed by :
(a) RBI (b) Banking Regulation Act
(c) FEMA (d) SEBI Act

European Union was established in :

(a) 2004 (b) 2008

(c) 1855 (d) None of the above
Indiais an :

(a@) Emerging Economy (b) Developed Economy
(c) Less Developed Economy (d) None of these

Customers and competitors are which type of factors affecting pricing ?
(a) Internal (b) External
(c) Both (a) and (b) (d) None of the above

Which of the following is part of STP strategy in marketing ?
(a) Market Targeting (b) Market Segmentation
(c) Marketing Positioning (d) All of these
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53.  Which of the following is not among the 4P’s of marketing mix ?
(a) Process (b) Price
(c) Product (d) Place

54. New product development includes :
(a) Idea Generation (b) Idea Screening
(c) Testing the Ideas (d) All of the above

55. The stages of product life cycle are :
(@ 2 (b) 3
() 4 d 9

56. Objective of skim the cream pricing is :
(a) Maximum Profit (b) Minimum Profit
(c) No Profit, no loss (d) None of the above

57. Advertising is always :
(a) Salesmanship (b) Personal
(c) Impersonal (d) Imaginative

58. Which one is a factor to be considered while deciding facility location ?
(a) Community support (b) Infrastructure
(c) Bank Facilities (d) All of the above

59. Which one is the most effective way to tackling the problem of defectives in a
manufacturing concern ?
(@) SQC (b) Correlation
(c) Regression (d) None of these

60. JIT stands for :
(a) Justin Trick (b) Joyin Time
(c) Justin Today (d) Justin Time

61. Which is a forecasting tool ?
(a) Regression (b) Least square
(c) Time series (d) All of the above

62. Which involves more than one estimate of future for analysis ?
(a) Linear Programming (b) Sensitivity Analysis
(c) Regression (d) All of the above
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63. CPM stands for :
(a)  Critical Path Method (b) Cyclical Path Method
(c)  Critical Problem Method (d) Critical Path Marketing

64. At EOQ, sum of carrying cost and ordering cost is :
(a) Maximum (b) Minimum

(c) Double of carrying cost (d) Double of ordering cost

65. Business ethics deals primarily with :
(a) Social responsibility (b) The pricing of products and services

(c) Being unfair to the competition (d) Moral obligation

66. Benefits derived from social responsibility include :
(a) Enhanced organizational efficiency (b) Producing better products
(c) Attracting people to work for the firm (d) Both (a) and (b)

67. Which one of the following is not the duty of employer to the employee ?
(a) Wages
(b) Health and Safety
(c) Family matters of employees

(d)  Occupational Safety and Health Administration

68. Building a sustainable environment includes :
(a) Developing a green supply chain (b)  Omitting hazardous emissions
(c) Writing a code of ethics (d) Both (a) and (b)

69. A firm is said to have good corporate social performance when :
(a) Stake-holders invest in socially useful causes.
(b) Deductions in charitable causes made.
(c) Stake-holders are satisfied with its level of social responsibility.

(d) The company has not been convicted of ethical violation for the last five consecutive
years.

70. The corporate governance structure of a company reflects the individual company’s :
(a) Culture and economic system (b) Legal and business system

(c) Social and regulatory system (d) All of the same
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71.

72.

73.

74.

75.

76.

77.

78.

79.

Check the wrong among the following myths about business ethics :
(a) Business ethics is more a matter of religion than management.
(b) Ethics can be managed.

(c) Business ethics and social responsibility both are same.

(d) Managing ethics at the work place has little practical relevance.

According to Ansoff, firms operate on two levels :
(a) New functions and existing products (b) New functions and old products
(c) New products and new functions (d) None of these

When an organisation starts making new products that serves its own needs, it is called
(a) Vertical Integration (b) Horizontal Integration
(c) Diversification (d) None of these

High growth, high market share businesses are :
(a) Stars (b) Cash Cows
(¢) Question Mark (d) None of these

The five forces business strategy model associated with the name of :
(a) Boston consulting group (b) M.E. Porter
(¢) Ansoff (d) None of these

Which one of the following is concerned with ‘Agency’ problem ?
(a) Divorce between management and ownership of company.
(b) Growing number of business agents.

(c) Failure of government agencies.

(d) None of these

Which concept of statistics relates to the concept of risk in Financial Management ?
(a) Median (b) Standard Deviation
(c) Mean (d) Correlation

B (Beta) is more than one for
(a) Risk free Assets (b) Defensive Assets
(c) Aggressive Assets (d) Itis always more than one.

On the basis of PI, project will be selected if :
(a) PI=1 (b) PI>1
(c) PI<1 (d PI=0
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(c)  JATshIHh G (d) I EHI TH § SATT BT 7 |

PI o 3TTYR 9 TSiF 3T FATH BT faT SR, 3R
(a) PI=1 (b) PI>1
) PI<1 (d PI=0
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80.

81.

82.

83.

84.

8s.

86.

87.

88.

89.

Which one is concerned with economics of mergers ?
(a) Economies of Scale (b)  Synergy
(c) Fast Growth (d) All of these

CCl is related to/with
(a) Competition Act, 2002 (b) Inventory Management
(c) Working Capital (d) None of these

Which one of the following is determinant of working capital ?
(a) Nature of Industry (b) Sale
(c) Credit Policy (d) All of these

Which of the following is the next stage after concept stage of product planning and
development ?

(a) Idea Stage (b) Product Planning Stage

(c) Product Development Stage (d) Test Marketing Stage

Kumar Manglam Birla is what type of Entrepreneur ?
(a) Founder (b)  Pure Entrepreneur
(c) Technical Entrepreneur (d) Second Generation Entrepreneur

The process of gathering information about trends is called :
(a) Need for Achievement (b) Tenacity
(c) Neuroticism (d) Scanning the Environment

Which one of the following is alternatively called Corporate Venturing ?
(a) Entrepreneurship

(b) Intrapreneurship

(c) Actof starting new venturing

(d) Offering new products by an existing company

The level at which an individual is viewed by society is called
(a) Financial Status (b)  Qualification
(¢) Social Status (d) Achievement

Competitive Model was coined by :
(a) Michael E. Porter (b) P.F. Drucker
(c) Philip Kotler (d) Koontz

Which one of the following is the primary cause of failure in small business ?
(a) Poor Financial Control (b) Poor Location
(c) Faulty Management (d) Improper Inventory Management

Series-A 18 SPU-32



80. faorm & fadeafiar fored gmfRa 2 ¢

(a) 9 6 fdqeafan (b) |
(c) st fershre (d) IRRE G
81. .31, w T B
(a) HFIEIEE TR 2002 (b) et (A =) JoEA 9
(c) hrishrl IS & (d) 3T A HE A
82. T o @ i Hrlenr doft ot frerftens B 2
(a) W ! TR (b) feshl
(c) @meHifa (d) IRRE G
83. 1= 1 9 Icure Fee TR faehm o foam =mor o uw=d 1 = B
(a) T =mo (b) 3edTE AISHT =T
(c) 3G forehre =0 (d) wdeqor fomume =
84. FHUR "oy fortent fopet wepm 6 Jeft € 7
(a) HEAT (b) g I
(c) dehiehl STft (d) gEd el % et
85. Gl o S H JHehR! Teha L ohl TTsHAT 1 gl STl &
(a) U Shi SHATTTIHAT (b) gedl
(c) TAIfeIeTeerdT (d) STdTaReT 6 St ST
86. T sTmwm A dd s e 7
(a) (b) ST
(c) 791 3TW Y& i hl M (d) T Ul U GRI T3 IATGH Y UThIT
87. o8 T W we =ufth <kl 99 g0 <@l AT @ 39 el A1
(a) Terfim feurfa (b) Il
(c) wHTrSTeh fefa (d) 3Tty
88. ufqarft Aiget fordeh g et TR AT ?
(a) WIZHA 3. U1 b) H.TF. TH
(c) Twfea seer (d) e
89. 7Y I I fawbetar b1 WUfheh HRO A F A HH AR ?
(a) @UH fociig Femor (b) TS TIH
(c) oI Y&EA (d) I IHH-F=N oo
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90. EDP (Entrepreneurship Development Programme) is required to help :
(a) Potential Entrepreneurs (b) First Generation Entrepreneurs
(c) Future Entrepreneurs (d) None of these

91. The concept of scatter diagram is related to :
(a) Correlation (b) Probability
(¢) Investment (d) Capital

92. Recognise the parameters of binomial distribution :

(@ n (d) p
(c) bothnandp (d) None of these

93. What is true about normal distribution ?
(a) Itis bell shaped. (b) Itis the basis of all parametric tests.
(c) Itis also called Gaussian distribution. (d)  All of the above

94. The value of Karl Pearson co-efficient of correlation lies between :
(@ Otol (b) 0Oto-1
(c) -1to+l (d) None of the above

95. Which one comes under non-probability sampling ?
(a) Convenience Sampling (b) Judgment Sampling

(¢) Quota Sampling (d) All of the above

96. What is the sum of deviation from mean for first 100 natural numbers ?

(@ 0 (b) 1
(© 2 d 3
97. Recognise the theorem of probability :
(a) Additive theorem of probability (b) Multiplicative theorem of probability
(c) Both (a) and (b) (d) None of these

98. ‘t’ testis used for which type of sample ?
(a) Large sampling (b)  Small samples
(c) For larger and smaller samples (d) None of these

99. The step-by-step instructions that solve a problem are called :
(a)  An algorithm (b) Alist
(c) A sequential structure (d) Aplan

100. Under the following which one is the determinant of dividend policy ?

(a) Dividend Payout Ratio (b) Owner’s Considerations
(c) Inflation (d) All of the above

Series-A 20 SPU-32



90. EDP (3ufiar fereh@ srish) shi STazaehdl, i Heg aq aidl 8

(a) T AT 2 (b) UEH Higt & T v
(c) et T 2 (d) IHEH A HIE Tl
91. Thet SHUTH 1 T8y fREd B ?
(a) Hg-GwH (b) EHTferT
© e (d) dsft
92, feue fordwur s Argeh yg=td |
(@ n . ® p_
() n3RpgHi (d) 3T g TE
93, g fqquihi ged g Fmaa ® ?
(a) I U hT IR HI BT | (b) =g Tt Trmfees 3w &1 IMUR R |

(c) ¥ Uifees ferawor oft hagetmar 2 | d) SRE T
94. ot e TEHse U 1 AT Hal § Hal dh alal & 7

a) 0¥1 b) 0d-1

© —-18+1 (d) TH I HE T
95. 1= 4 9 9 91 t-gryrey yfcesH i 9ufi § 31rar @ ?

(a) g g (b) Tt gfaesH

(c) 31y YfdesH (d) 3T aeft
96. M 100 Thfcieh TS o W1eA & foe 1 Siig T EIaT & 7

@ O (b)) 1

) 2 @ 3
97. UTRrehdl sl THY hl U= |

(a) WTRrehdn bl ufefea v (b)  TRIehdl shl Hedifuehiea THI

(€) (a) 3T (b) QAT d) TTH RIS T
98. ‘t’ (&) X 1 TN fory TR & Sraet (Ufdest) F a8 e ?

(a) &S aTA (b) B AT

(c) oY B dFa | (d) T HE T
99, Ueh GHET shl A Hid o U TUT-e-<0] AT Hl RTHgd @ ?

(a) U TAINA (b) Th =R

(c) T shusg L=l (d) T IISAT
100. =1 & 9 & g1 o Hifd o fufes g 2

(a) AT ¢ T 3TUTT (b) Tl T femm

(c) WS whIfd (d) IT0E Tt

SPU-32 21 Series-A



Space For Rough Work / T% %/ % foru ST

Series-A 22 SPU-32



Space For Rough Work / % % % foTu ST

SPU-32 23 Series-A



